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a)
𝑑𝑦 = 𝑑 sin 𝜃 = 12.5 m sin 20.0° = 4.28 m.

b)
𝑑𝑥 = 𝑑 cos 𝜃 = 12.5 m cos 20.0° = 11.7 m.
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Ԧ𝐴 = 50 km Ƹi.

𝐵 = 30 km Ƹj.

Ԧ𝐶 = 25 cos 60 Ƹi + 25 sin 60 Ƹj

= 13 km Ƹi + 22 km Ƹj

Ԧ𝑑 = 50 km + 0 + 13 km Ƹi + 0 + 30 km + 22 km Ƹj

= 63 km Ƹi + 52 km Ƹj

Ԧ𝐴

𝐵
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𝑑 = 62.52 + 51.72 = 81 km.

𝜃 = tan−1
51.7

62.5
= 40°. Ԧ𝐴

𝐵

Ԧ𝐶
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2 Ԧ𝐴 × 𝐵 = 2
Ƹi Ƹj ෠k
2 3 −4
−3 4 2

= 2൛ 3 2 − −4 4 Ƹi − 2 2 − −4 −3 Ƹj

ൟ+ 2 4 − 3 −3 ෠k = 44 Ƹi + 16 Ƹj + 34 ෠k.

3 Ԧ𝐶 ∙ 2 Ԧ𝐴 × 𝐵 = 3 7 Ƹi − 8 Ƹj ∙ 44 Ƹi + 16 Ƹj + 34 ෠k = 924 − 384 = 540.
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Ԧ𝑎 ∙ 𝑏 = 3 2 + 3 1 + 3 3 = 18.

𝑎 = 32 + 32 + 32 = 27 = 5.20.

𝑏 = 22 + 12 + 32 = 14.= 3.74.

𝜃 = cos−1
Ԧ𝑎 ∙ 𝑏

𝑎𝑏
= cos−1

18

5.20 3.74
= 22°.


